TR TAEERTI —REEHMIETR (B2 5)

BT EERTHTO—ZSFOMIETHE (F25) 13, RITEDDEZAITLD,

(AR H PR OHIE)
F14& MARHTROBEIORARETN N1 0 2 THAEBML, ARHTROBHELEARHETE 1
1, 389, 071 FHLETS,
2 AR TEOHIEDRKE DX 7 M Y X 5 T & OAFEN M ER ORI TEOEFEIX, 15 1%
N T EAE ) 12X D,



FT1XR BARHEHFTEMILE
% A
EN 18 FHIERIDEE FHIEZA it
21 3% ] A 139,162 FM 102 ¥M 139,264 FM
5 A 62,086 102 62,188
% A a i 11,388,969 102 11,389,071
i &
2 i FEIERIDEE FHIEZB Hi
2 7% = 2,223.857 ¥M 102 +MH 2,223,959 FM
1 # 7% =1 L1 & 1,993,979 102 1,994,081
% 3] = it 11,388,969 102 11,389,071
FEABRLELEFEFIERRHES
1 8 1F
2PN
7 # IF gf O ¥ &H %@ W O E ¥ H # it
21 2 i A 139,162 ¥ 102 FH 139,264 FH
% A = it 11,388,969 102 11,389,071
(&% W
G 1E %8 D) Bt R A R
2 WMIERIOD FHEZ| @ E ¥ & % Hi o E Bt IR — BB R
EaXtE| b A B[ £ 0 oA
F+H F+H F+H F+H F+H FH FH
2 # % & 2,223,857 102 2,223,959 102
B B & &t 11,388,969 102 11,389,071 102
2 = A
@ = 2ol A 5 1 # A
£ REMOE| BIEHE 5 e o B
T T T T T
1 A 62,086 102 62,188 1 # A 102 | A B EEERIRS 102
5 62,086 102 62,188
3 = W
@ = wB B 1 1 ;ﬁ IE%%E @%ﬁj ’J?IEW _%
_‘-|'- %» Pas ;'\ E =1l
g ER | prm | o B = BB 1B LN %
2 Eexse] HEm | 2ok |HE| B & | £ &
F+H F+H F+H F+H F+H F+H F+H F+H FH
12 & & 10,876 102 10,978 102 21 # 18 % & 102|B=8ES 102
RUBES
B 1,993,979 102] 1,994,081 102

_‘I_




